Sy

GIaC|aIL|ght —

GL-BL Series Brace Accessories
(Part No. AE-BLXXO000LK0001)

S EE—

B H S 20~ AR 4
MRS 22 x1

L A 28 x 2

S < M4x10 4H 4124 x 4
54 > M8x25 W/NAIRAReH G x 4
%@ o
(o . o Step 1.
(o @ 0 4 9 | Gather parts for brace assembly.
(o o 0 ® | U shape brace x 1
0 o 2 L shape brace x 2

M4x10 screws x 4

M8x25 screws with nuts and washers x 4

SER—
i L AUSZAR L MAx10 4H &R &R L BRI
RIEHED - LRI -

Step 2.
Use four M4x10 screws to attach the two
L-shaped braces to the bottom of the power

box.

Sh=
- w— M BISZ AR LL M8x25 SRR (RSB AE WY (1]
1 Eipe e

Step 3.
Use four M8x25 screws to attach the
U-shaped brace to the exterior sides of the

L-shaped braces.

& A
4 [A M @Pw’e’ th,m A

GlacialTech® GlacialStars’ PowerYourldea  iighting You Aiways G!ﬁq?ﬂ!??!ar



Sz

[ ] [ ] ®_
GlacialLight =
T Adjustment screw gl
e i | BT PR EL IR i ] -
"%\ Step 4.
— Control the angle of the lighting fixture by
adjusting the M8x25 screws according to the
e ————

application.

The bracket has a maximum adjustment angle of 180 degrees and can be adjusted into 8 different
positions, each one 22.5 degrees apart.

++ . A
-[A M v G%ja%t‘@ A,

GlacialTech® GlacialStars’ Power Your Idea Lighting You Always GLac,'?JSOI/a ’




